Обучение лексике и грамматике английского языка в рамках подготовки к ЕГЭ. 
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учитель английского языка, гимназия № 9.

Третий раздел письменной части ЕГЭ по английскому языку «Лексика и грамматика» оценивает сформированность достаточно широкого спектра лексико-грамматических навыков на основе употребления лексических и грамматических единиц в коммуникативно-ориентированных контекстах.

В этом разделе учащимся предлагается выполнить три задания, т.е. три субтеста. На выполнение всего задания в этом разделе отводится 40 минут, из них 10 мин. на проверку грамматических навыков на базовом уровне (задание В4 – В10); 15 мин. на проверку лексико-грамматических навыков (базовый уровень: задание В11 – В16) и 15 мин. на проверку лексико-грамматических навыков на повышенном уровне (задания А22 – А28).

 Прежде всего, обратим внимание на то, что все три задания строятся на основе связных текстов, с прочтения которых (после внимательного изучения инструкции) должна начинаться работа над каждым из субтестов. Чтение здесь является не целью, а средством проверки и необходимо для предварительной ориентации в тексте перед дальнейшей работой над его языковой стороной. 

Задание В4-В10 (разд. 1) проверяет умение использовать в соответствии с контекстом грамматические формы существительных, глаголов (в т.ч. времена, условные предложения, герундий и инфинитив, сложное дополнение и пр.), прилагательных, наречий, местоимений, числительных. Тип задания – краткий ответ, для получения которого необходимо заполнить пропуски в тексте грамматически согласующимися с контекстом формами слов, представленных на полях справа от текста.
ПРИМЕР 1

Прочитайте приведенный ниже текст. Преобразуйте, если необходимо, слова, напечатанные заглавными буквами в конце строк, обозначенных номерами B4 – В10, так чтобы они грамматически соответствовали содержанию текста. Заполните пропуски полученными словами. Каждый пропуск соответствует отдельному заданию из группы В4 – В10

My husband and I are from India, from the state of Punjab. We arrived

 in the USA in 1995. My husband had a degree from a university in

 India, but he B4 _______ to find a job. We decided to come to the               BE ABLE

United States for the work opportunity here in this country. My husband

came here first. He began B5 _________ in an Indian restaurant where        WORK

he is now the manager. He saved money and then sent tickets for me and

 our little daughter. My husband B6 ________ his work and would like         LIKE

to start his own business someday, B7 ______ a restaurant.                            PROBABLE

I planned to be a doctor. I finished university and intern-ship in India.

But when I arrived here and submitted my transcripts, they told me that

 I B8 ________ to begin my education again. They only give me credit         NEED

for a small number of courses. I feel very B9 __________ , but I refused      DISAPPOINT

to be discouraged. I have already been accepted into a nursing program.

 When I finish my English courses, I intend to get my registered nurse 

degree.

There is only a small Indian community in our town, so we can celebrate

 Indian festivals together. The families are B10 ________ and we call each    FRIEND

 other, babysit for each other, and we like to cook together on the weekends.


Данный тип тестового задания диктует следующий алгоритм его выполнения: после ознакомительного чтения целого текста для понимания его темы и логики развития повествования учащиеся приступают к внимательному прочтению последовательно каждого предложения и определению требуемого контекстом грамматического значения пропущенного слова. Далее необходимо образовать форму слова, передающую это значение, и вписать её в текст. Для проверки выполненного задания после заполнения пропусков следует ещё раз прочитать весь текст, чтобы убедиться, что смысл всех предложений восстановлен правильно и не нарушена логика текста.


Задание В11-В16
По своему дизайну первое и второе задание в рассматриваемом разделе экзамена одинаковы. Однако в задании №2 объектом контроля является умение использовать не формообразующие, а словообразовательные аффиксы английского языка (см. элемент содержания 5.3.1. кодификатора). Тип задания – краткий ответ, для получения которого необходимо заполнить пропуски в тексте лексически и грамматически согласующимися с контекстом словами, преобразуя с помощью словообразовательных элементов слова, представленные на полях справа от пропусков. После выполнения данного задания необходимо внести слова, вписанные в пропуски в тексте, в бланки ответов строго под соответствующими номерами (то же самое необходимо сделать по выполнении первого задания). 
ПРИМЕР 2

Fill in the gaps with the correct words derived from the words in bold.

Claude Monet was an artist who lived in France between 1840 and 1926.

He is probably the most (1) ________ of all the impressionist painters                  FAME
and today visitors can see his (2) __________ paintings in museums                     BEAUTY
around the world. Monet was most (3) __________ in painting                              INTEREST
nature scenes and his most (4) ___________ works are now                                   IMPRESS
very (5) __________  . However, at the beginning of his career, he                        VALUE
found it (6) __________  to sell any paintings, which meant that for                     POSSIBLE
years he was poor. In fact, he only became very (7) ____________                        SUCCESS
after his death. Nowadays, people can visit Monet’s home and admire

the (8) __________ gardens where he worked for much of his life.                         PEACE
KEY:

1. famous

2. beautiful

3. interesting

4. impressive

5. valuable

6. impossible

7. successful

8. peaceful 

Приведённый пример показывает, что в данном задании учащиеся должны образовать слово, а не форму слова (как это требуется в первой части раздела «Грамматика и лексика»): fame - famous, value – valuable и т.д. Как правило, здесь учащиеся оперируют только словообразовательными аффиксами, однако следует обратить внимание на то, что в некоторых (редких) случаях контекст может требовать использования и соответствующих формообразующих аффиксов: visit – visitors. 
Данному типу тестового задания соответствует следующий алгоритм его выполнения:
1. Ознакомительное чтение целого текста для понимания его основного содержания (как и в первом задании, чтение выступает здесь как средство для дальнейшего восстановления пропущенных единиц).
2. Внимательное прочтение каждого предложения, восстановление по его смыслу значения пропущенной единицы, определение грамматической категории, к которой она принадлежит (какая часть речи пропущена?). 
3. Использование соответствующего аффикса (или аффиксов) для образования нужной лексической единицы.
4. Прочтение текста после заполнения всех пропусков для проверки правильности его восстановления.

Задание А22-А28  Объектом контроля в данном задании служат лексико-грамматические навыки. Тип задания – выбор ответа из четырёх предложенных. В задании требуется заполнить пропуски в тексте лексическими единицами, соответствующими контексту. После выполнения задания необходимо отметить выбранный вариант в части А бланка ответов (верхняя часть бланка) под соответствующим номером.
  ПРИМЕР 3
Human cloning

My friend Tom and I went to A22 _______ a lecture on human cloning given by Professor Cloneman. We were both very interested A23 ________ the subject, as there had been a lot of discussion about it recently on the television and in newspapers.

Professor Cloneman began by saying that he A24 ________ of research into human cloning, provided it was only done by scientists in university labs, and that he was not at all A25 ______ of the consequences. He said that he believed in science and did not think that scientific progress would ever result in anything harmful to human beings. In answer A 26 ______ questions from the audience, he gave many examples of how cloning could help doctors fight certain diseases, especially cancer. He referred to transplants and explained how organs could be produced using cloning techniques and concluded that the truth about cloning is very A27 ______  from what the media would have us believe.

The professor’s ideas made an impression on us. I must admit I am a bit nervous about the prospect of human cloning on a large scale and I’m definitely not too A28 _____ on having myself cloned, but I was shocked at the way Tom insisted on getting some clones of himself made so that they could help him do all the things he didn’t have time to do now. 

A22  1) visit                      2) attend                                 3) listen                           4) deliver

A23  1) in                          2) about                                   3) on                               4) at

A24  1) liked                     2) made                                    3) did                             4) approved
A25  1) frightened           2) scared                                  3) terrified                     4) afraid
A26  1) on                         2) to                                          3) about                          4) from

A27  1) various                 2) changeable                          3) different                    4) unlike

A28  1) interested           2) fond                                  3) keen                         4) eager    

                           Из приведённого примера видно, что в данном задании оценивается знание и умение пользоваться лексико-грамматической сочетаемостью лексических единиц в контексте. Для успешного выполнения задания необходимо различать нюансы близких по значению лексических единиц и понимать, какое из этих значений востребовано контекстом. Кроме того, важно учитывать, с какими структурными языковыми единицами может сочетаться слово в контексте (предлогами, инфинитивом, герундием и т.д.)

ПРИЛОЖЕНИЕ 1

USE OF ENGLISH.  EXAM TIPS
Multiple choice (gaps filling): Tasks A22-A28

1. When you read the text for the first time, ignore the gaps, and just try to get a general sense of what it is about. Always check your answers to make sure they fit logically and grammatically.

2. Before you fill in the gaps, read the text quickly to check that you understand the main points. This will help you find the right word more easily.

3. Before you fill any gaps, read the text paying special attention to the words before and after  each gap. These help you decide what part of speech the missing word should be.

4. If you have doubts about which answer is right, try checking which answers are definitely wrong. Also think about how the answers are different from one another. When you’ve chosen an answer, read the whole sentence again to check it makes sense with the chosen word.

5. Before you look at choices (task A22-A28) for each gap, try to think of a word that could fit in the gap. Even if you can’t think of a particular word, decide what part of speech – verb, noun, etc. – it needs to be.

6. If you’re not sure if the answer is correct, make sure that all the other possible answers are wrong. You will then know if the word you’ve chosen is the best.

7. First fill in the gaps that you are certain about. Mark each word or phrase that you have used. Then for each remaining gap, try to rule out the words or phrases that are definitely wrong. This will reduce the number of options to choose from.

Word building: Tasks B4-B10, B11-B16
1. Read the text first to understand what it’s about. Then decide what type of word is missing from each sentence (is it a verb, a noun, etc? is it positive or negative?). Practise various ways of forming new words.  

2. Understanding what the text is about will help you when you are trying to fill in the gaps. Look for clues that help you decide what part of speech the missing word is. When you have finished, read through the whole text again to check that the words fit in logically as well as grammatically.

3. First decide what part of speech the missing word should be (verb, noun, adjective, etc.), then think about what different forms there are of the words that you’re given.

4. You can expand your vocabulary by learning the different parts of speech for words – for example, expect – expectation, expected, unexpectedly. Keep a vocabulary notebook and include different parts of speech.

5. Some types of Use of English task tests your knowledge of verb forms. Make sure you know how to form regular verbs and can recognize irregular verbs of the most common irregular verbs by heart.

6. Synonyms  and collocations (words that often go together) are frequently used in multiple-choice tasks. Try to learn any new vocabulary with its most common synonyms and collocations, and keep a record of these in your vocabulary notebook.

7. Always read the whole text again after you have filled in the gaps, to check that it’s correct logically as well as grammatically.
ПРИЛОЖЕНИЕ 2

Word building

In the examination correct spelling is required. (Tasks B11-B16)
This part of the Use of English tests your knowledge of affixes, the means by which words are changed into other related words. There are two kinds of affixes:

Prefixes are added to the front of words, e.g. able – enable; happy – unhappy.

Suffixes are added to the end of words, e.g. wide – width; wise – wisdom; offend  -- offensive.

· Prefixes

Positive to negative: happy – unhappy; satisfied – dissatisfied; eligible – ineligible
Verbs: large – enlarge; tell – foretell; charge – overcharge
· Suffixes 

Verb – noun:    approve – approval; suspect – suspicion; speak – speech

Noun – adjective: hope – hopeful; noise – noisy
Verb – adjective: widen – wide; repeat – repetitive
Adjective – noun: long – length; wise – wisdom; mad  -- madness

Verb – adjective: falsify – false 
· Traps to beware of

Spelling 

Very often base word changes when the suffix is added, as in wide – width; satisfy – satisfactory
-ible or –able

If in doubt, use –able. The rule of thumb is that if the root is a recognisable noun or verb, the adjective will end in –able: rely – reliable; value – valuable (capable or probable are exceptions).

The double change

You may have to make more than one change to the base word, e.g. the meaning of the sentence requires not satisfactory, but unsatisfactory, which you have to form from the base word SATISFY.

Example:  Word building (pre-intermediate) B11-B16

Fill in the gaps with the correct words derived from the words in bold.

Claude Monet was an artist who lived in France between 1840 and 1926.

He is probably the most (1) ________ of all the impressionist painters                  FAME
and today visitors can see his (2) __________ paintings in museums                     BEAUTY
around the world. Monet was most (3) __________ in painting                              INTEREST
nature scenes and his most (4) ___________ works are now                                   IMPRESS
very (5) __________  . However, at the beginning of his career, he                        VALUE
found it (6) __________  to sell any paintings, which meant that for                     POSSIBLE
years he was poor. In fact, he only became very (7) ____________                        SUCCESS
after his death. Nowadays, people can visit Monet’s home and admire

the (8) __________ gardens where he worked for much of his life.                         PEACE
ПРИЛОЖЕНИЕ 3

Common mistakes

There is a wrong word in each of the following sentences. Replace with the correct word. There is an example at the beginning.

1. George and me would like to invite you to our going-away party. ___I___
2. Anybody knows what happened to the Marie Celeste. It’s a complete mystery. _______

3. I have few time to spare before my flight leaves; let’s go and have a coffee. _______

4. My three cousins passed the entrance examination. Both of them are at university now. _____

5. As a child, I used to being on my own a lot. _______

6. There are less birds about than there were when I was young. ________

7. The twins passed the entrance examination. All of them are at university now. _______

8. My parents played the piano, but none of them could read music. ________

9. You won’t find many money in my purse. _________

10. After picking a bunch of grapes, I ate few and put the rest in a basket. ______

11. The birthday card was signed “With love from George and I”. _______

12. As a child, I was used to be on my own a lot. _______

13. All of us played the piano, but neither of us could read music. _____

14. You won’t find much pound coins in my purse. ________

15. I have any time to spare for such nonsense; I am far too busy. ________

16. Nobody can tell you where Biog Ben is. It’s easy to find. _______

Key:

1. Me – I

2.  anybody – nobody

3. Few – a little/some

4. Both – all

5. Being – be

6. Less -- fewer

7. All – both

8. None – neither

9. Many – much

10. Few – a few

11. I – me

12. Be – being

13. Neither – none

14. Much – many

15. Any – no

16. Nobody – anybody

ПРИЛОЖЕНИЕ 4

Compound prepositions

Combine the nouns from the middle column with prepositions to make useful fixed expressions.

	preposition
	noun
	preposition

	at

by

in

on

out of

under

with
 for
	    1 account 

    2 addition

    3 agreement 

    4 answer

    5 behalf

    6 common

    7 exchange

    8 favour

    9 good terms

    10 love

    11 means

    12 odds

    13 pity

    14 reference

    15 the compliments

    16 the expense 

    17 the influence

    18 the sake


	for

of

to

with


Key:

1. on account of

2. in addition to

3. in agreement with

4. in answer to

5. on behalf of 

6. in common with

7. in exchange for 

8. in favour of

9. on good terms with

10. in love with

11. by means of

12. at odds with

13. out of pity for

14. in/with reference to

15. with the compliments of

16. at the expense of

17. under the influence of

18. for the sake of

